MURDOCK 1949- The nuclear family is important for REES
GOUGH- Studied the Neymar tribe and found the nuclear family is not universal
PARSONS- Structure and functions fit society. Modern industrial meets needs of nuclear. Industrial needs= geographical mobile and socially mobile workforce. 
WILLMOTT (AGAINST PARSONS)- Pre-industrial was nuclear, not extended
CHAPMAN 2004- Girls learn to be house makers through plays, school and clothing
PARSONS- Nuclear family were best suited to meet needs- Primary socialisation of children. Stabilisation of adult personalities 
MARXISTS- Conflict theory- capitalist class vs working class
ENGELL- Monogamy was important for the inheritance of private property
ZARETSKY – Family offers shelter from capitalism
LIBERAL FEMINISTS- Campaign against sex discrimination. Notice March of Progress
MARXIST FEMINISTS- Main source of women’s oppression is capitalism
RADICAL FEMINISTS- Society based on patriarchy
SOMERVILLE- Radical feminists fail to notice a March of Progress
THE NEW RIGHT- Against family diversity. Patriarchal nuclear family is the only correct family type. Clear division of labour based on biological differences
[bookmark: _GoBack]BENSON 2006- Studied 15000 babies born between 2000-01. 3000 mothers came from lone parent households during first 3 years of child’s life 
OAKLEY (OPPOSED NEW RIGHT)- New right assumes husbands and wives roles are determined by biological differences
FLETCHER 1966 (FUNCTIONALIST)- Intro of NHS and education helped families to perform functions
MURRAY 1984 (NEW RIGHT)- Government reward irresponsible behaviour in the form of benefits
THE NEW LABOUR- Traditional family is the best to strengthen marriage and cut benefits
LAND (FEMENIST)- Social policies assume the ideal family is patriarchal nuclear.
MARXISTS- Social policies don’t benefit all members
